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INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should compulsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature,

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only ane
correct/ most appropriate answer, out of four options given
and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only.

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ . © @ If (B) is correct answer.

There are 100 objective type questions in this Booklet. All
questions are compulsory and carry 2 marks each.

Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
considered as standard.
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HOME SCIENCE - II

& fagm - 1

Assertion (A) : Do not pull the measuring
tape too tight where it will press into the
skin, though this will give a smaller
measurement, it will not be accurate if
you are truly trying to record correct size
information.

Reason (R) : The cloth measuring tape
have both centimeters and inches on it.
So that you can measure according to
your preference.

Code :

(A) Both (A) and (R) are incorrect.
(B) (A) is incorrect, (R) is correct.
(C) (A) is correct, (R) is incorrect.

(D) Both (A) and (R) are correct.

When you exert yourself vigorously
without relaxing for a moment, you
experience muscle fatigue or even
exhaustion which is due to the following
reason ?

(A) Accumulation of lactic acid
(B) Deficiency of glucose
(C) Sweating

(D) Deficiency of lactic acid

d.

HUFHLT (A) : AfE 17 TrTE § T R
FT SRR T F FH09 R E G
TSI 29 1 A FH F A F ferw wiem
T =IfeT el W @ H gae e ) aafy
IE U BreT WITH &7 S T AR A

TN (R) : F9S F it 29 § e oin
39 < & T #@ €1 fed e ot
THE % TER W9 oF % faq e 3ydm
& GFd E |

e
(A) (A) 3R (R) <1 =&t 78 &
(B) (A) W& 7 ¥, (R) W€ 21
©) (A)FEE (R) = T 7
(D) (A) 3R (R) 3 =t &

5o A9 HnR fagifa F s1ve § sesnet
FE YA F € Al sy It § e
Ay Fafes #1 ot srva Frefateas fea
FRUIH H E ?

(A) WfRF o7 w1 F=2a9
(B) e[ HT AUl
(C) A

(D) wfas 3t Ht AT
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The following are objectives, of :

(a)  To check the quality and suitability
of raw material

(b)  To monitor the production
(c)  Toassess the quality of final product

(d) For R and D (Research and
Development) purpose

(e) For new product development
Choose the correct answer :

(A) Textile testing

(B) Yarn testing

(€C) Garment testing

(D) Fibre testing

Parental role in the family change
during :

(a) Child bearing stage
(b)  Beginning stage

(c) Expanding stage
(d) Contracting stage
Code :

(A) (a) and (b)

(B) (b), (c) and (d)
(©) (a) and ()

(D) All stages

4.

fre=fofea stva € .

(@) = " W e @R STgEE
W A

(b) SR T A T
(c) i SeIre Y T[T W1 e HE
(d) THYR SR ook & stvg % ferg

() Y 3UR ¥ o F fa
TE I

(A) =g v

(B) T witayor

(C) R e

(D) g witeor

__ % %NH 9fEr § Ot 51
ity yftafda 2t &)

(@) THHH =T
(b) WRfYE =
(c) Toremor =wm
(d) HF=T W

(A) (a) 3R (b)
(B) (b, (c) i (d)
© (a) 3R (o)
(D) W4t =10
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Assertion (A) : The objectives of the
Child Labour Act is to ensure that all
children between six to fourteen years are
in school.

Reason (R) : Under RTE it is the duty of
the State to ensure free and compulsory
education to all children below the age of
18 years.

Code :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.
(C) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

Colostrum is very good as it is rich in
proteins and

(A) Carbohydrates
(B) Minerals
(C) Vitamins

(D) Antibodies

Seating grouped together to form a single
unit is called as :

(A) Lounge seating
(B) Multiple seating
(C) Grouped seating

(D) Conversation seating

sifure (A) : 719 99 wfufem =1 e
WA R gAa Fm e fFed U F
it Fedl =) faaea s =g |

WHIOT (R) : 91e7 & ifern & sHatia qe T4
TFR F FoA € F 1898 4 F0 ag &
|y F=di I g ud AavaE e fae

Fe
(A)  (A) T (R) < Tt &)
(B) (A) T (R) i Terd € |
(C) (A) T & g (R) Terd € |
(D) (A) 7Terd 2, WH{ (R) T 21

G Wgd =01 Bl § Hifw 9% W v
Y W & T

(A) e
(B) Wi
(C) fa=rfet
(D) Wi

THe | &1 ToA1 # for ifdén %1 us |y
Tofed FTA FI F41 FHgl A E 2

(A) TS Hifzn

(B) =gl ¥
(C) wmfea wifen
(D) ardiem Hifén
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Assertion (A) : A Printing machine
consists of several copper cylinders or
roller which are engraved.

Reason (R) : The number of rollers
required depend on the number of colours
used in the design.

Choose the correct answer :

(A) (A) is correct but, (R) is incorrect.

(B) Both (A) and (R) are incorrect,

(C) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).

(D) Both (A) and (R) are correct.

R (A) : BUE w9 & da (copper)
& = §T ACTHIRR FHHIIRR Ferd i e
kS

WRT (R) : T &1 wen fewmen § & %
TR e W e 2
wﬁ'{ﬂﬁ

(A) (A) 98 B, W (R) 7o 3

(B) (A) 3R (R) i rera #

() (A) 3 (R) 3rii =& & forg (R), (A)
1 HEl =re 78

(D) (A) 3 (R) 2 =t £

Media comes from a word Hifsdr = 1 Iy =0l graT &
“Medium”, o= U Hifemm ! W g #
(A) Greek (A) =
(B) French (B) %4
(C) Spanish (C) wfqe
(D) Latin (D) #fem
SPACE FOR ROUGH WORK / 7% &1 % fo wrrg
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10. Aims and objectives of school guidance

and counseling are :

(a)
()

(<)
(d)

To reduce teacher’'s workload

To cultivate essential life skills in
students

To enhance parental responsibilities

To minimize the incidence of
indiscipline and anti-social activities

in the school

Code :

(A)

(B)

(©)
(D)

11. Which of

(a) and (b)
(c) and (b)
(b) and (d)
(c) and (d)
the

following are

“Nutraceuticals” ?

(a)
(b)
()
(d)

Prebiotics and probiotics
Antioxidants
Phytochemicals

Trace elements

Code :

(A)

(B)

(©)
(D)

(@), (b). (d)
@), (), (c)
(b), (¢), (d)
(a), (), (d)

10.

11,

farerTer ATTeY Te TUHY F1 wed 3T 35T
g

(a)
(b)

(<)
(d)

e

(A)
(B)
(©)
(D)

AR T FEYR T FH FAT

forenfeldi # smavas S FvE @
famtor s

T et =1 serm
Toremera | seTAET wa | i
fomamsti =1 &9 4

(a) S (b)
(c) 3 (b)
(b) SR (d)
(c) R (d)

T ¥ P ¢ grgfeeey ¥7?

(a)
(b)
(c)
(d)

e

(A)
(B)
(©
(D)

drerfead ud werbifeay
THAF ST
EOECiEaTETo: ]

79 THE=E

@), (b). (d)
(a). (b), (c)
(b), (¢), (d)
(@), (). (d)
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12.  Assertion (A) : ‘Singlehood’ as a trend 12, HHYT (A) : ' THFHIA' vF i Fremoig
has risen considerably in recent years. 9 9 et freterer # 3emR ek
Reason (R) : Women with highly HNT (R) : iy fofem, gfa s=qa,
educated, career oriented, delayed foeifern faaw qur faaw-fase 4 gfg 4
marriage and increase in divorce have THFI H 91 direr faan &
contributed to remain single.

Code : e

(A) Both (A) and (R) are correct. (A) (A)@=(R) T T §)
(B) Both (A) and (R) are incorrect. (B) (A)TeM (R) 3 Tera £
(C)  (A) is correct and (R) is incorrect. (€) (A) T ® iR (R) Tom@ 2
(D) (A) is incorrect and (R) is correct. (D) (A) 7o 7 8iR (R) wé &)

13.  Andragogy is the study of teaching : 13.  TFIF fFas A w1 aveges 32
(A) Children (A) s=9
(B) Adolescents (B) fwuiR
(C) Adults (C) =T=h
(D) Elderly (D) g

14. Compensation for faulty goods or services 14, gl A A Sanedi 3 fau sqvir sifER
is ensured through the consumer right & e sifayfd # e &
to : WA F H W
(A) Redressal (A) FraEmrm
(B) Education (B) foram
(C) Justice (C) =mg
(D) Choice (D) fawey

SPACE FOR ROUGH WORK / 7% %rd & forg s
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18,

16.

17,

FAO approved the use of irradiation to
control pathogens in fresh and frozen
meats in the following year :

(A) 1988
(B) 1997
(C) 1975

(D) 1990

The term that includes bed sheets and
pillow cases, bed spreads, quilt covers,
duvet covers, cushions, blankets,
mattresses, etc. is called as :

(A) Upholstery
(B) Furnishings
(C) Bed textiles

(D) Comfort textiles

Curriculum development refers to the
process of :

(A) Curriculum Designing
(B) Implementing
(C) Evaluating

(D) All of the above

15.

16.

17.

forg o & UR.U . A 9 99 fenga wiw
oy Forisor 3 fer, ferorii o6 Sweim =it |
YaH i ?

(A) 1988
(B) 1997
(C) 1975

(D) 1990

72 v fagd fasmEm, a9 9, Ter-9m,
ToE @i, Ut F1 15 & @i, Tel, FHad,
7] 3eafe wifeaa & 8, 1 Feamm €

(A) HSIEME (FHL H)

(B) gafss™ HTm
(C) foma =&
(D) #NHE

IgAshH UiEHT i ufeha Hafud €

(A) UEEHH =T H
(B) fmaraaa &
(C) T |
(D) ST 94 9
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18.

The transmission of receivers reaction 18.

back to the sender is known as :
(A) Feedback

(B) Noise

(€) Comment

(D) Source

Wil =1 Wfafsran =1 wero s e =5
AT FEAT ¢

(A) wfigfe
(B) ¥R
(C) feuyoft
(D) ®m

19. A short series of lectures by 5- 7 experts 19, 5 - 7 s zrq faeft 7= fawg & 39-

on sub-topics of a main topic is called : Tawal @ & T @y e gmen ®) s
' EInIE

(A) Seminar (A) Tt (AfgaR)

(B) Workshop (B) HrEwIEN (wduiT)

(C) Symposium (C) wfidar (fardifsmm)

(D) Conference (D) W (FHiE)

20. The process thatinvolves a comparatively 20. U WA 9 A=A 5o % FYH
low order of heat treatment, generally at FH WAM W JoAE ®9 § e wig
temperature below the boiling point of F1 Yo o s &, O wiEm w5 sy
water is known as : €:

(A) Pasteurization (A) =T
(B) Sterilization (B) Eetemtor
(C) Irradiation (C) fFom
(D) Immobilization (D) fre=eiteTn
SPACE FOR ROUGH WORK / T% &4 # ferdl org
Set - A 10 9210/TFU-HOMSC/ELG-II



21,

2.

23.

The following is one of the international ~ 21.

organizations for the promotion and
protection of consumers :

(A) UNESCO
(B) FAO
(C) 10CU

(D) WHO

A house constructed in a native manner, 22,

close to nature, using the materials locally
available is termed as :

(A) Vernacular house
(B) Energy efficient house
(C) Eco friendly house

(D) Money saving house

Foundation stones of an Extension 23.

programme are :
(A) Objectives
(B) Problems
(C) Solutions

(D) Facts

=1 & | HF UF SudEE F Woared
WU I TH A Hed 8 2

(A) e

(B) THTL

(C) 3.3 F,

(D) T=UA.A.

TorTa Tl 4§, veHfa ges ud e Tl
g faftfa = =1 Far 9

(A) THIEER &
(B) &M TE
(C) il =i Te

(D) H&T9&d Te

forddt off waR FRET ¥ A F U B €

(A) g
(B) wwEd
(C) THYH

(D) @A

SPACE FOR ROUGH WORK / T% &9 & fad sve
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24.  The quotient obtained by dividing the  24. ¥+ wuif %t Fa1 AGTa §5Fa FT @iz
total covered area on all floors by the area B | W ¥ Wy HRTHE FHegerdl ¢
of plot is called as :

(A) Floor area quotient (A) w3 SR YIRS
(B) Plinth area quotient (B) Ay &Fme YR
(C) Plot area quotient (C) iz &aFe YrTHa
(D) Site area quotient (D) & &%el IITH

25. Common symptoms of Alzheimer’s 2. STESITEHT 7T 3 TH e ¥

disease are :

(a) Disorientation (a) TaqgEA

(b)  Joint pain (b) STged

(¢) Anxiety and anger (c) Toa@1wd wiy
(d) Upper respiratory infections (d) 90 vaem efl § dwao
() Memory loss (e) AmEEmd H &fq
Code : %e

(A) (a), (d) and (e) (A) (), (d) 3 (e)
(B) (a). (b) and (d) (B) (a), (b) 3 (d)
(€)  (b), (c) and (e) ©  (®) () 3 (e)
(D) (), (c) and (e) (D) (a), () ¥ (e)

26.  Select the correct answer for the following 26, Freferfas weq ¥ Wl IW w1 g
statement : ﬁﬁﬂ:{ :

“The process of producing fabric by "m@%maﬁmﬁﬁmaﬁ(mﬁ}
transferring continuous yarn into FT FTHRT GRT €T q G e
interlocking”. (Interlocking loops) BRI fan =mar &1
(A) Knitting (A) FafEm
(B) Weaving (B) T
(C) Warp Knitting (C) MR T
(D) Shedding (D) wfem
SPACE FOR ROUGH WORK / 7% T4 & forl s
Set - A 12 9210/ TFU-HOMSC/ELG-TI



27. A statement which shows how family ~ 27. 9 foawer st zufar ® fo & wita sm
income is spent on various items of 1 fafim agali w w4 & s 8 S
expenditure is known as : EiG
(A) Ledger (A) w@ra-=&

(B) Balance sheet (B) qeH-TH
(C) Assets statement (C) wftEufa faawm
(D) Financial record (D) fasdra-feie

28. Match the following latest innovation 28. Wit - 1¥ fag g TdiHay FEEE F TS &
given in List - I with reference to the eIt - 11 H 378 Heifuq 7 % Hayf | foem
names given in List - II : i :

List - [ List - II CUED et - 11

(@) Maestley (i) By (a) WA (i) FAEEEA

Spinnova

(b) Post-consumer (ii) By Teijin (b) UrRE-SuEE ®OE (i) 2feE gW
cotton based Jeans amenfE i

(c) Biofabrication (iii) By Levis (c) wErhfoheT TS (i) wfEH @R
Leather and Evrnu ECLS Q1R

(d) Wood fibre yarn (iv) By Emel (d) TS HEEL IH (iv) T 3R
technology and Aris (g gTm) W rige: o

(e) Tech. infused (v) By Modern (e) derw WG W& (v) Hisd HiEl
wearables Meadow Rl B
Code : He:

(@ () (9 (d) (o) (@ (b) (0 (d) (o)
(A) @) @) v @ @) (A) G @) (V) @ @)
® Gv) @ (v) (@) @) (B) @v) () (v) (@) ()
© @ @v) @) @ () © @@ Gv) @) @@ (v)
(D) (v) () (@) () (iv) (D) (v (@) @@ @) (iv)
SPACE FOR ROUGH WORK / T% & & fodl s
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29.  Arrange in order of development of play 29, T ¥ Bl ¥ frwm 4§ =it
in children : HIfAT :
(a)  Associative play (@) HR=d E=
(b)  Sensory - motor play (b) T - ME B
(¢)  Outlooker play () TFeTF B
(d)  Cooperative play (d) wedfi @
Code : %He
(A4)  (b), (a), (c), (@) (A) () @) (). @)
(B)  (®). (0, (d). (a) (B) (), (¢), (d), (a)
© (@ ®) @), () ©  (©. ®), @), (d)
D) (®). (0 (@), (@ (D) (b). (0), (@), (d)
30. The Law of Colours is also known as : 30. T % frm &1 7 st Fmr s
(A) Law of hues (A) T =1 fam
(B) Law of relationships (B) Hsy & gy
(C) Law of pigments (C) =i = frem
(D) Law of background (D) y=4fa & fam
31. Select the correct answer for the 31 frerferfian o ¥ wét w9t TE
following statement :
Statement : The margin kept for stitching HIT R i e # forn st s
the garment is known as : Sl €, 9% Feem §
(A) Margin (A) w=ifsiq
(B) Seam Allowance (B) Him sy
(C) Overlapping (C) ettty
(D) Selvedge (D) FeEw
SPACE FOR ROUGH WORK / 1% %Td % ford s
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32.

33.

34.

A series of standard and specifications
designed to establish minimum safety in
the erection and construction of buildings
for safety of public are termed as :

(A) Master Plan

(B) Town Planning
(C) Zonal regulation
(D) Building Bye-laws

One of the following is incorrect about
milk as a diet :

(A) TItis low in Iron content but rich in
calcium, sodium and potassium.

(B) The chief proteins are caseinogens
and lactalbumin.

(C) Itisrich in vitamin Cand D but poor
in vitamin A and Riboflavin.

(D) The major carbohydrate is lactose.

The ratio that is calculated by dividing the
operating net profit by sales is known

as :

32.

33.

34.

(A)
(B)
©
(D)

Operating ratio
Operating profit ratio
Net profit ratio

Gross profit ratio

wrerfed H werl it 3H wa i | =g
e 3 feru, weehi aen faferzansti #1 w0
¥ T SHE I FE T E

(A) W H
(B) =&A w1

(C) el TeT
(D) faaq; vaq

firaer 6 &9 1 gy et Frafetad Fe
HH FE-T FH WA 77

(A) zod wie FT A1 w9 ¢, 96 TR
Fiean, difean wg wrefvEs | 994
2l

(B) FfgHed wd dAeecdfad 9% THE
WA |

(C) = faeifi C 3it D& |y & fofrg 7%
faafia A @i Tgemfad @ wE
oo e

(D) RIS THH TE FEERse €|

fama € yaeE faa o #i faufsa &2
yfterfera fehu T A9 1 Fed € -

(A) e ST

(B) WHEEH ©H AU
(C) fra@ =4 I
(D) W T ST

SPACE FOR ROUGH WORK / T% &d & ot s7&
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35. Which of the following are soluble 35,

Dietary fibers ?
(a) Pectins and gums
(b) Mucilages
() B glucans
(d) Lignin

(e) Cellulose
Code :

(A) (@), (b), (c)
(B) (), (d), (e)
(©) (), (c), (d)
(D) @) (o), (d)

Pt # & 2 gerrelter smerta Yo 9

(a) TfeE 9 1R
(b) e
(© B TEHH

(4) (@), ®), (c)
(B) (), (@), (e)
©  ®) (@), (d)
(D) @) (©) @

36.  Carpel Tunnel Syndrome is a problem 36, FTiel 27T Forgm s g & 5
occuring due to recurring activity in the : F WS T F B F Fwr B
(A) srfemi
(A) Fingers
(B) wemeEi
(B) Wrists
(C) i
(C) Hands
(D) =rfEi
(D) Elbows
SPACE FOR ROUGH WORK / 7% %14 % forgr R
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37.

38.

Which of the following are associated
with puberty ?

(a) Adrenarche

(b) Gonadarche

(c) Heterarchy

(d) Menarche

(¢) Spermarche

Code :

(A) (a), (b), (d) and (e)
(B) (b) (c), (d) and (e)
(€) (@) () (d) and (e)
(D) (a), (b), (c) and (d)

Assertion (A) : Research in Reproductive
health describes women's disadvantaged
position and Lack of reproductive rights.

Reason (R) : Notion of Masculinity and
feminity are outcomes of social
construction which shape sexuality and
reproductive rights.

Code :

(A) (A) is correct, but (R) is incorrect.
(B) (A) is incorrect, but (R) is correct.
(C) Both (A) and (R) are correct.

(D) Both (A) and (R) are incorrect.

LY

38.

et # | #F T AeAeen | e ?

(a) g

(b) TR

(c) wHI

(d) HATHI

() T

e :

(A) (@), (b), (d) & (e)
(B) (b), (), (d) 3 ()
©) (@) (). (d) T (e)
(D) (@), (b), () 3 (d)

RIERYA (A) : Tor T H i wfeenst
F afeger frafa qgr go@m sifusii i
FHH] 1 T FLA €

/T (R) : 9 UF TRIc i ST
qrfse S &1 it ¥ 5 Sdfrea o
T AR i 99w T

&

(A) (A) W€ &, T (R) T T
(B) (A) i €, WG (R) WEl ¥
(C) (A) IR (R) 3 wel €1
(D) (A) &R (R) &1 7o ¥

SPACE FOR ROUGH WORK / T% &t & fer&t s
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39.  Listening is badly affected by : © 39, TN A wifea B
(A) High speed of speaking (A) drer# dtg fa 4
(B)  Overloading of listening material (B) #av wr it & #fyur §
(C)  Physiological problem of hearing Q) a9 3™ =i Wit Twer §
loss
(D) Al of the above (D) S9ed 99 |
40. Following scientist is regarded as the 40, fieiferfign St § A R fesmadt &
father of Canning : S % TG F T &2
(A) John Ha (A) wH®E
(B) Nicolas Appert (B) Tieprerg uyd
(C) Douglas (C) <rems
(D) Louis Pasteur (D) <39 =R
41. Which of the following cannot be a good  41. WM ¥ e wewa F deERE w9 2
way of communication in promoting 1 4 4 el 1 8w o wd g
literacy among villagers ?
(A) Group discussion (A) w9 ==t
(B) Demonstration (B) west
(C) Reading and Writing (C) 929 9 @
(D) Slide Show (D) wmEs o
SPACE FOR ROUGH WORK / 1% @14 & fo2r s
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42. Match the principles of design in  42. ®WW ‘A’ ¥ fiU T femmrea % fagid

Column ‘A’ with their statements in ‘B’ 1 fou T o FyA & AR faam
Column ‘B" : HIfT
Column ‘A’  Column ‘B’ =Wy ‘A’ Wy ‘B’

(a) Scale (i) isakeyingredient (a) THe () YeAdRImTTHF
to create pattern fere us HEeay
and texture. rea

(b) Repetition (ii) catches the b)) TEEM ) TE F AN R
viewer’s attention. e |

(c) Symmetry (i) isdeliberate sizing () GHEWal (i) AEAA qel &
of individual mﬂﬁﬁaﬂ'ﬁﬁi
elements. M

(d) Emphasis (iv) is attractive and (d) === (iv) 98 ArFdE T
creates a sense of T &1 TR
harmony. FAA L |

Code : e

(@ (b) (c) (d) (@) (b) () (d)

(A) (v) (@) @) @) (A) (v) () @) ()

(B) @ (@@ @) (@v) (B) (i) () (i) ()

(Q @) @ (@v) (@) (C) @) @ (v) (i)

(D) (@) @v) @ (i) (D) @) @Gv) @ (i)

43. Time Management, getting a job,  43. HAY e e, AR YT HA, FIAhT,

interview, computer, cooking, driving are FHEGI, G 1, JMeA =1 e
the :

(A) Livelihood skills (A) STsfifes S

(B) Learning skills (B) Toregor =iwre

(C) Lifeskills (C) e FE

(D) None of the above (D) 39 H A FE T

SPACE FOR ROUGH WORK / T% % % fod e
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44. Arrange in correct sequence the  44. ufym fmin F frdam i e e
il following steps in process inspection and Tihan % o ol @ wlt ww s
quality  control  of garments o
manufacturing :
(a) Inspection in fabric sewn section (a) =% faem & HIWFT 1 frdteyo
(b) Inspection in fabric spreading (b) IS HEAH F I = Frftem
section
(¢)  Inspection in fabric cutting section (c) TS FFA F umT F1 Pty
(d) Inspectionin sample making section (d) T SR F SFT9AT 1 e
(e)  Inspection in pressing and finishing (e) TAM (pressing) 3 WwHTT F &
section SN H ey
Choose the correct answer : HE IW T4
(4)  (e). (a), (b), (c), (d) (4) (@) @) (), (0), (d)
(B)  (d), (b), (c), (a), (e) (B) (), ®). (c), (), (e)
©) @ (b) (). @), (e) ©) @ ®) ©. @), ()
@) @) (), (d), @) (c) (D) (b), (), (@), (a). (¢)
45. Which one of the following is not a part 45 FEAdFn' wm 5 Tadnt I e
of “Blooms” taxonomy ? g2
(A)  Knowledge (A) FH
(B) Reaction (B) wffsan
(C) Evaluation (©) YeaiFa
(D) Comprehension (D) wu=
SPACE FOR ROUGH WORK / T% &1 % forgy g
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46.

(a)

(c)

Match the following theories of fashion
in Column “A’ with their statements in
Column ‘B’ :

Column “A’ Column ‘B’

Trickle-down (i)  Reflecting

Theory changing style
and practice in
fashion.

Trickle-across (i) Fashion as a

Theory random creation
that dies as an
innovation is

born.

Trickle-up (iif) Mass

Theory Communication
and popular

media support
the existence of
this theory.

Lehmann (iv) Coined by
economist
Thornstein
Veblen in 1889.

Code :

@@ () (o (d
(A) Gv) () @) ()
(B) (@) @) & @)
© (v) @) @ @)
D) @ G @ G)

46.

(a)

(b)

(<)

(d)

frefafas ww ‘A’ % TR & fagidl =i

oy B’ § fau Tu I9F FuEi % ATER faer

AT

WY A W ‘B’

feher-ere () deft T @i

T e & T
T |

frra-whm (i) A OF AEEE

oY G & S W @
A e A TE
TR HyE S
T e

feshet-21g (iii) TTEER SR AR

A Hifesr 35 fagia %
A= =1 gudT
T L

weHd (iv) o dee

(Lehmann) refeTeEt g1 1889
o S T

E TR

(@ (b) (@ (d)
(A) (v) @) @) (@)
(B) () (@) @) (@)
© Gv) @ @O @)
D) O @ @) @)

SPACE FOR ROUGH WORK / T% &d & fordt e
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47. Harmonal changes are associated with : 47, e aftedA geifim ¥
(a) Aggression (a) RTH@ g
(b) Regression (b) EAfA |
()  Frustration () Fer &

(d) Depression (d) EEEd

Code : E T

(A) (a) and (b) (A)  (a) 3R (b)

(B) (b) and (c) (B)  (b) 3 (c)

(©) (@), (b) and (¢) © (@) (b) ¥R ()

(D) (), (b), (c) and (d) (D) (@), (b), () 3R (d)

48.  Assertion (A) : Fabrics, as they come out 48, 3iRRY (A) : F78 F I0 & 918 T3 T
of the loom, are not at all attractive. They AFUF & B9, FarE 3 IAE F uwmTr §
get dirty and unattractive during the 3 78 qen SFHYFHE 8 o §
process of spinning and weaving,

Reason (R) : Unfinished fabric, as they HIUT (R) : 5% 9k % = %09 § =
come out of the loom after weaving T Iraftsga = # e e ¥
known as grey goods.
Choose the correct answer : & IW o
(A) (A) and (R) both are correct. (A) (A) 3R (R) 31 98t &)
(B)  (A)and (R) both are correct, but (R) (B) (A) 3R (R) 3 el ¥, forg (R), (A)
is not the correct explanation of (A). 1 el = e ¥
() (A) is correct, but (R) is wrong, (©) (A) @& 2, g (R) T &
(D) (A) is wrong, but (R) is correct. (D) (A) e &, g (R) T@t &4
SPACE FOR ROUGH WORK / T% &1 % ferdl e
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49.

50.

51.

Which of the following are recent  49.

innovation of Eco-fabrics ?

(a) SAMATOA / Lotus fabric
(b) Fabric from Fermented wine
(c) Hagfish slime thread

(d) Cocona fabrics

(e) Corn Fibre

Choose the correct answer :

(A) (9. (@) ()

(B) (@), (b) (9), (d)

(©) (a) (b)

(D) (o) () (@) (b)

Income received in the form of wages, 50.

salaries, rents, dividends or profit is called
as .

(A) Psychic Income
(B) Inherited Income
(C) Money Income

(D) Real Income

The following factors luminance, colour, ~ 51.

distribution, glare, reflections are related
to:

(A) Iumination

(B) Hue and Intensity
(C) Heat

(D) Shadows

e A #H | FI2 TS & H TAER
(innovation) TATTr U §?

(a) UMENT (SAMATOA)/®9d HIS
(b) e fFvEa & TR FUE

(c) withe ToEH oM

(d) IR FIE

(e) TS THIEH

'ﬂﬂ‘ 3L ﬁ -

(A) (), @) (e)

(B) (a). (b), (c), (d)

(©) (). (®)

(D) (e), (), (a), (b)

wergdl, S, TR, e A e ok w o
oI fon S ATl S e o €

(A) WHEES A
(B) Tauret =™

(C) da1 3™
(D) arafas 3

forag grafea &2

(A) WRIME
(B) =i wE e
(C) o

(D) Bm

SPACE FOR ROUGH WORK / T% &Td @ ford sme
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52,

Which techniques are most used in
Educational Research ?

(A) Questionnaire
(B) Interview

(C) Observation
(D) Sociometry

53. Match the following,
List -1
(a) Organic cotton (1)

List - 11
Created by
extracting the
starch and then
sugar

(b) Soy silk (i) Has naturally long
fibres which
makes it suitable
for spinning

(c) Ingeo corn fibre (ii) Made from
by product of the
tofu making
process

(d) Eco friendly Jute (iv)  Much more
environmental
friendly than the
traditional variety

(¢) Hemp (v) Bio-degradable

Code :

@ () (© (@ (e
@ @ & O @
B) ™ @ @ @) @
© ) @ @) ) @

@) & @ ()

(i)  (iv)

52. Veifores v & R a5 fe 3

o s & 2

(A) gEE
(B) wmaeER
(C) sTaciisH
(D) WM

53. Frefafan @1 gifem wifm

Tt - 1
(a) FHEF Fum (i)

(b) Hr o (if)

(c) 3Sitsll 7E wEear (i)

(d) wfifesrfas
HIFTH 2
(e) &9 v)
%e
(@) (b) (o)

(A) @ (@v) ()
(B) (v) (i) (i
© G @) ()
D) @) (v (i)

T - 11

wH iR e =
Frerrer % gra aamn
T

@IfaF 'Y § o5
W S A ¥ fem
SUGH ©

A% a9 F Wi
H 97 39T 51

(iv) IRufier fafquar 7
e 1 5ga aafirs
AR F s

AT

d) (o)
(iii)  (v)
(iv) (i)
™) @)
(i) (iv)

SPACE FOR ROUGH WORK / Th &E & o3 5
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54.

55.

Assertion (A) : A family functions as a

system.

Reason (R) : It is a set of different parts
coordinated to accomplish a set of goals.

Code :

(A) (A) is correct, but (R) is wrong.
(B) (A) is wrong, but (R) is correct.
(C) Both (A) and (R) are correct.

(D) Both (A) and (R) are wrong,.

Which of the following are used as
“Chelating food
processing ?

agents” during

(a) Calcium chloride

(b) Sodium gluconate

(c) Sodium benzoate

(d) Potassium meta-bi-sulphite
Code :

(A) (a) and (c)

(B) (a), (B). (¢) (d)

(€) (¢) and (d)

(D) (a) and (b)

54.

55.

atfirsre (A) : IRER FE TF Jomel wH
TR

T (R) ; Fifa @ea =1 wiftd & fag a7
fiys-fom ferdi =1 us gufad T 21

E T

(A) (A) W & 9 (R) To@ €
(B) (A) e & W (R) W T
(©) (A) 3 (R) T W& &
(D) (A) &R (R) 3 e E

@ yEEw § A @ e s
“Faafen T % 9§ foar s @7
() Hfewad FEE

(b) HfETm TR

(c) whifeam =itz

(d) refirEm H2r-aE-HewEe

(A) @F()
(B) (@) (®), (c) (d)
© ©@9(@
(D) (@4 (b)

SPACE FOR ROUGH WORK / T% &4 & fod wmg
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56.  The plant bodies which contain pigments 56, ¥Ry YR S Fofqg ¥ qey Tereetten & &4 g

and bound with membrane are called TR IR
as :

(A) Chlorophyll (A) FARiRe
(B) Chloroplast (B) FANIEIRZ
(C) Hemoglobin (C) fevrret
(D) Chromoplast (D) TR

57. Arrange the following steps of research 57. WY ¥ SO e LR qerafeaq

in the correct sequence : Hife

(a) Review of literature (a) wfET =it wHen

(b)  Rationale of the study (b) ITIT F THIYR

(c)  Objectives of the study (c) o1 %1 9y

(d) Methodology (d) YU

(e) Interpretation (e) =M

(f)  Results (f gfom

Code : He

(A) (b), (0 (a), (d), (), (e) (8) (). (). (@), (d), (), (e)
B) (@ (), (). (@), (). (e) (B)  (a), (b), (c), (). () ()
(©) (@ (b). (a), (@), (e), () (© (), (b), @), (d), (e), ()
(D) (b), @), (9), (@), (o), () (D) (b), @) (), (d), (e). ()

SPACE FOR ROUGH WORK / T% %14 % fordt g

Set - A 26 9210/ TFU-HOMSC/ELG-II



:58.

59.

A 11 month baby has been brought to the ~ 58.

pediatric unit. Upon examination the
case was confirmed as a thin, lean,
emaciated child. He has history of
diarrhea and refusal to foods from the last
few days. He has been diagnosed with
What could have been the
source of energy to the brain cells during

‘marasmus’.

the period of food deprivation :

(A) Glucose

(B) Branched chain amino acids

(C) Fatty acids

(D) Ketone bodies

Freezer burn means : 59.

(A) Drying out of food at its surface
during freezing

(B) Burning out of the food during
freezing

(C) Browning of food during freezing

(D) Softening of food during freezing

TF 11 9 F 9= 9 9 o w0
T | S F 390 98 gitvEa fE
T H g U gaen, e, geeages 9=
3| 9% SfFEr F TR ¥ gw W o ER
e fei & SRR o1 e 4 T2 1) S
‘wri e’ | e fem w0 owR fagfe
e e Fifvet ¥ o st & @
1 @I 2

(A) T

(B) i a1 o wnfEd @e

(C) E I

(D) A T

feqarlia <A (ISR o) %1 Haors & ¢

(A) fedtgm ufsken @ =1 feweifs %
g I Yfeka & S|

(B) Terfiym wiwan & @ =1 5/ < |

(C) fedtya wfsran & @m s A S

(D) fesitya wfshen d @me =1 gge |

SPACE FOR ROUGH WORK / % &1 & o sme
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60. Match the following concept : 60. fr=fetaa st =1 firem #ifsw .
Column - A Column - B - A w9 -B
(@) Gore () The part where a  (a) 7R (Gore) (i) e fewms, R E
lower body garment Tt 9ftam & a1y
is joined with curve TieTTE H e e ®
(b) Gorge (i) A special measuring (b) TSI (Gorge) (i) = =1 U favy
tape EL
(6 CPG. (i) The depth of the (c) .. (iii) T () F TR
Neck
(d) Crotch (iv) A small triangular (d) = (iv) & e
piece is joined at the (bottom opening)
bottom opening T IS 3 T Bie
Brvtvia gwer
(Triangular piece)
Code : C T
(@ (b) (o) (d) (@ (b) (o) (d)
(A) @) @) @ @ A) G @) @ @
B G @ @) () B @ () () ()
© @ @ @@ G © O @ @@ )
(D) Gv) (i) @) () D) (v @) G) @)

61. The means which are available and 61, =i % 9fd w1 F 3 Wee i 3uerey ¥ G|
recognized for their potential in meeting ST a7 feTq ST st & =61 %1 s ?:
demands are termed as :

(A) Constraints (A) =gaiy
(B) Resources (B) wHHH
(C) Conflicts € =8
(D) Desires (D) ==
SPACE FOR ROUGH WORK / T% &1 & forg e
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62. Family directly influences personality of  62.

the children by :

(a) Communication

(b) Modeling

(c) Directing

(d) Controlling

Code :

(A) (a) and (c) are correct
(B) (a) and (b) are correct
(C) (b) and (d) are correct

(D) (c) and (d) are correct

63. Which of the following are the types of  63.

qualitative Research except :
(a) Phenomenological model
(b) Ethnographic model
(c) Historical model

(d) Case study

(e) Narrative model

(f)  Descriptive model
Choose the correct answer :
(A) () only

(B) (a). (b) only

(©)  (c) (d) only

(D) (e) only

afraR =4l & SAfsaca H1 d9 T W
H gyifad F 2

(A) (a) W@ ()T T
(B) (a) Ui (b) W&
(©) (b)TH ()T
(D) (0w (d) W& ¥

freferfes & | #F 3 Aiee oS STEEH
'QFFIEFI'{%, e

(a) FrafumEiasa olea
(b) FewfaaT WiEw
(c) UfqeiEes Atse
(d) & H AEIA
(e) Y HISA

(f) =UHRHF AT
TE I A

(A) e (f)

(B) % (a), (b)
(C) F= (c), (d)
(D) A (e)

SPACE FOR ROUGH WORK / 7% #1d & fod s
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64.

Match the List - I to List - IL

64. = - 1% faem gelt - 119 Fif

List - I List - II et - 1 = - 11
(a) Hopsack (i) Is a type of plain weave (a) BM@® (i) T TR i Tt
which produces a very (Hopsack) I St 9ga & fo
smooth high thread 3R 3= firet (Fe=)
count fabric. ¥ U 96 FUS F
fmior e 21
(b) Percale (i) Has the herringbone (b) WFA (Percale) (i) war Bftra
pattern but at very low (Herringbone) 92
angle. AfeT sga F9 F
Tl |
(c) Gabardine (iii) Is a tough, tightly (c) T (iii) TF FfeA,
woven fabric used to HEFL 1 g2
make suits, overcoat Fug g saT
and other garments. W, R &R
= F9E F T
#H foran sman 24
(d) Cork screw (iv) Is plain weave with two (d) TR T 9% (iv) TF 9T % == g
weave or more thread in weft 71 3 ¥ s am
and warp interlaced, =M % W % o
instead of one. (interlacement) &
I U WehT 1 1et
T |
Code : Fe:
@ (b © (@ @ B © (@
(A) (i) (v) @) (i) (A) @) @(v) @) (i)
B @ @) (i) (Qv) B O G) (@) (v)
© @v) @) () (i) © (v) @ (i) ()
(D) (@) () (@Gv) () (D) () (i) (v) (i)
SPACE FOR ROUGH WORK / % &4 &% f&d wme
Set - A 30 9210/TFU-HOMSC/ELG-II



65.

66.

The symbol of ‘Earthen Pot’ is asymbolto  65.

indicate the following standard :
(A) Eco Mark

(B) Water purity

(C) Environmental friendly

(D) Zero emission

Arrange the following steps of Hypothesis  66.

testing procedure in correct sequence.
(a) Calculation of probability.

(b) Deciding the distribution to use.

(c) Comparing the probability.
(d) Making a formal statement.

(e) Selecting a significance level.

(f) Selecting a random sample and
computing an appropriate value.

Choose the correct answer :
(&) (@), (©) () (&) (). (B
(B) (®) (d). (). (®). (). (a)
(©) (@) (®). (c) (d), (e), ()
(D) (d), (e), (), (£). (a), ()

' 31 42’ (Earthen Pot) %1 {5 f71 ok
! gfed w1 aen & fae 8

(A) T wE
(B) T Y&
(C) TamER @
(D) ¥ S

aftsregq uiew ufEa & freafafaa =l
1 WE EHH § SHafed Hife |

(a) TWIEAT FI TOAT FHA

(b) fameor F ST (distribution to use)
F1 7 FE |

(c) HWE HT FAT HAL
(d) U S FUA (statement) T |

(e) W&= & W (level of significance)
1 FHA R

() AT (random) T 1 =T HE
AR 3fEd qed (value) 1 HPFfET
HIA|

Wer I H1 A B ;

(A) (@), (0), (B), (). (d), ()
(B) (®), (d), (e). (®), (c), (a)
(€) (@), (), (c). (). (e). (B)
(D) (d), (&), (b). (£), (a), (c)
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67.  The communication model of Shannon 67, ¥ Ta1 S *1 Wiww Wew fre qei T
and Weavers consisted of the following auiia €1 32 wdt w9 o =raftm Fif
elements. Arrange them in right order :

(a) Information source (a) HIMEE

(b) Transmitter (b) FTEHIR

(c) Channel (c) &

(d) Receiver (d) wiftasat

(€) Destination (e) T

Code : FE

(A) (@) (b), (c), (d), (e) (A) (@) (b), (c), (d). (e)
(B) (@), (c). (b), (e), (d) (B) (@), (©), (b), (e). (d)
(©)  (®) @) (©). (d), () (€)  (b), (@), (), (d). (e)
(D) (©), (). @), (e), (d) (D) (©). (b), (a), (e), (d)

68. Which of the India’s city is a major centre ~ 68. WREAY 1 FF T W SR (Zardozi)
of art of Zardozi embroidery ? FeE el o feTu W e e S 2
Choose the correct answer : HE I T
(A) Punjab (A) e
(B) Kashmir (B) HIvHIX
(C) Lucknow (C) w&Ts
(D) Kuchchh (D) %

SPACE FOR ROUGH WORK / T% &1d & ol wrig
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69. One of the following types of doors should 69.

be avoided in Barrier free Housing :
(A) Sliding
(B) Automatic

(©)

(D)

Double swing

Swinging

70. The correct sequence of Piaget’'s  70.

Sensory - motor stages are :
(a) Reflexive Schemes
(b) Primary Circular Reactions

(¢) Coordination of Secondary Circular
Reactions

(d) Mental Representation

(e) Secondary Circular Reactions
(f) Tertary Circular Reactions
Code :

(A)

uRfEa =/ § e TR F Z5Ers &1 SEnT
Tl HE =i ?

(A) SHHHETE

(B) TE=nferd

(C) <redt SreEmen
-1 et

(D)

foarst & Gl - T TR &1 Wl AR
g:

(a) Foeria =E
(b) WigfHe gaea wiafhan

(c) fedras gaaa wfafsrn =1 99==

(d) =HEF FETm
(e) fodtas gaaa wlafsean
(f) getass gaad wiafsan

e

(B)
©)

(D)

(@), (d), (b), (&), (c). (O
@), (b), (©), (), (), ()
@), (), (b), (d), (e). ()
(@), (b), (e), (), (), (d)

(A)
(B)
(©)

(D)

(@), (d), (), (), (), ()
(@), (b). (). (d). (e), (D)
(@), (©), (b), (d). (). ()
(a), (b), (e). (), (), (d)
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71. Punishments such as reprimands, 71. 3% 3 fF Fewm, veEAl, TaEEE
demotions, threat of termination are used yTl, f1= ¥ yev surm § s fea
in the following management approach : SR
(A) Stick approach (A) f== 3urm
(B) Carrot approach (B) E 3UrPH
(C) Apple approach (C) U9et 39Ty
(D) Log approach (D) T 39T

72.  Which of the following are non-projected ~ 72. /=1 & § &1 =1 fr_wérqm T99- 959 HIHA
audio-visual aids ? 272
(a) Puppets (a) Y
(b) Slide shows (b) TEmEE W
() Drama (c) 1
(d) Exhibition (d) wIHE
(e) Folk songs and dances (e) i Tia q I
(f)  Film projector () Forew HsE
Code : Fe :

(A)  (a), (b), (e). (D (A) (a) (®), (e), ()
(B) (@), (c), (d), (e) (B) (a), (c), (d), (e)
©)  (®), (). (d), (e) (©) (), (), (d), ()
(D) (b), (9), (), (e) (D)  (b). (). (c), (e)
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Set - A 34 9210/TFU-HOMSC/ELG-II



19,

74.

Affective testing deals with the
following :

(A) Subjective facts such as preferences
that is how well the products are

likely to be accepted.

(B) Deals with objective facts about
products.

(C) Biochemical and psychological
aspects of sensation.

(D) Threshold testing.

One of the following is an incorrect
statement about BMR :

(A) BMRisdirectly related to the surface

area.

(B) BMR is increased in warm climate.

(C) BMRisinversely proportional to the

age.

(D) Males have higher BMR than age
matched females.

73. WVIEIE I TRl ¥

74.

(A) TomafTe qei S8 s sefq g
! fehaT Tear | 9™ S |

(B) uformi ¥ Tegfes e | gty ¥
(C) WA & Sa-TEmafTF a9 waS
e 9 |

(D) Tgel e

Fr=fafes wuA § 9 <ug.sm 8§ gafeE
FH-1 FY 3TH © 7

(A) ORI YUid: §qE &9 9 g
7

(B) Y%k Sio1a1d H &l UH. S, %1 911 gl
¥l

(C) =1.un.3T wfaeia: 1/ | |e &Y
J wrafeq ¥

(D) 31 =l Si1e A R, Afgensii 1 gor
T Eui § ot UH. 3. F A i g
%
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75. Marriage laws are designed to protect : 75. foare s 1 = % wtew ¥ smew fam
TR
(a) Safety of the individual (a) = =1 Hqean
(b) Safety of the society (b) HHTS I TGEeT
(c) Anti-dowry system (c) &= fadedt wen
(d) Inter-caste marriage (d) SIR-SEE faame
Code : F:
(A) (a) and (b) are correct. (A) (a) 3R (b) T ¥
~ (B) (b) and (c) are correct. (B) (b) 3R (c) Tet ¥
(C) (b) and (d) are correct. (C) (b) 3R (d) wdt ¥
(D) (a), (b) and (c) are correct. (D) (a), (b) 31 (c) TEt ¥
76. Arrange the following Development 76, fr=ifafaa fasm wrisw F1 7% wriy 27
Programmes in the chronological order of ¥ FTHRAHER § et Fi
their inception :
(a) Integrated Child Development (a) WafHa = fawm s (ICDS)
Scheme (ICDS)
(b) District Primary Education (b) foen wefi foen #E%a (DPEP)
Programme (DPEP)
(c) Mahatma Gandhi National Rural (c) I WHT W Tt FsR A
Employment Guarantee Scheme EIER]
(d) Swachh Bharat Abhiyan (d) == 9rd HfEE
(e) National Literacy Mission (e) TS Hiawa figem
Code : TR
(A) (@), (b), (c), (e) and (d) (A) (@), (b). (c), (e) 3R (d)
(B) (@) (o), (b), () and (d) (B) (@) (&), (b), (c) 3 (d)
(€) (©, (d), @), (b) and (e) © (<) (d) (a), (b) 31 (e)
(D) (@), (¢), (), (b) and (d) (D) (@) (e), (c), (b) 3R (d)
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77.

78.

79,

Health influences food choices. One of
the following statements is incorrect :

(A) People with liver problems need less
alcohol.

(B) Blind people need extra carrots.

(C) Older women need more calcium
than younger women.

(D) Pregnant women need extra green
leafy vegetables.

Select the correct answer for the following
statement :

Statement : In pattern making method
different parts of garments, specially
major parts are made by technical
drawing is :

(A) Flat method
(B) Modeling
(C) Draping
(D) Grading

NIOSH is an international organization
established to study and ensure :

(A) Ergonomics

(B) Operational research

(C) Health and accident protection
(D)  Occupational safety

77.

78.

i

TR, SRR W T W 9IS e

Freaferfan et 4 4 27 w1 %o s 32

(A) TF9 Tt~ g9 9 safad &)
T UCHIRTA H1 AGvIHar £

(B) 319 =xfoal 1 aafir W & e
AEvTFH Bt ¥

(C) F= Afeenadl &1 g1 § g5 ofeenad
%1 siftrr Ffewam 7 smavasa 24
2

(D) et mfeenstf #i ek o # By
URIER WSt #7 snavasar it ¥

Frefeafan woa7 3q ot s F1 A9
FHifer -

&Y : YT Fmiv =t fafy 3 drems 3 fafiys
wr, ol w9 & wgm 9 i iy gt
ST (o) B = e

(A) wie fafy
(B) Hrefen
(©) gfam
(D) ufn

NIOSH U#% $iqiia gmaq & format wamm
=1 % sreart e gffiramm 3 fore =t it
g:

(A) FH Sa7aT oA
(B) wfEamas iy
(C) *Eme ud gefen e
(D) =AEHIfE e
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80. Which one of the following is not the  80. =1 & & %17 = wowor &1 = =& 2 2
function of communication ?
(A) Information (A) =T
(B) Execution (B) Twar=am
(C) Motivation (C) fimrom
(D) Emotional expression (D) vEATHE HAfvyeafaa
81. Disability in reading is called : 81. el H sTawHal T F Fel el § ?
(A) Hemophilia (A) Erifwefar
(B) Dyslexia (B) SHEEeIeRIa
(C) Aphasia (C) Rfaan
(D) Dysgraphia (D) SEEmE
82. A document which represents effort to 82, UF IEES I, fFel Hred # 19+ =1 F
focus on the commitment of organisation ufd W Fard 3 | Haifd a9 sgdl &5
towards its citizens in respect of standard U FA &, FEEAC
of services :
(A) Ombudsman (A) @S
(B) Citizen's Charter (B) ATt =R
(C) Promissory Note (C) F=3-93
(D) Contract (D) SAHH-9H
SPACE FOR ROUGH WORK / 1% &4 & o s
Set - A 38 9210/TFU-HOMSC/ELG-II



83.

84.

(@)

(c)

(d)

One of the following aspect of product is
concerned with the efficiency of the
product performance :

(A)
(B)
©
(D)

Operational
Aesthetic
Functional

Durability

Match the following parts of sewing
machine of Column ‘A’ with their

functions of Column ‘B’ :
Column ‘A’ Column ‘B’

hold the fabric in
its definite place.

Feed Dog (i)

Stitch withdial (ii) pull the fabric in
forward.

Needle clamp  (iii) to control the

screw zig-zag stitch.

hold the needle in
its actual place.

Pressure foot

(iv)

Select the correct answer by given code.

@ () () (@)
(A) (@) (@) @) (iv)
(B) (W) () (v) (@)
©Q @ () (@) (@)
(D) (v) () @) (i)

83.

84.

(@)

(b)

(©)

(d)

frefefad 3ar % veq § § #9-9 sar
Freare & e 9 grafra 22

(A) uft=mem
(B) wigaier®
(C) frars
(D) fewm

@Y ‘A’ & Taes qviia & fafafas ami
® WY ‘B’ F 3% w1 F 919 s
Hifo :

WY ‘A’ wWY ‘B’

TiE g () UL *H AT
Ay R w s
F T

o faveme (i) w98 &1 am
fepzeacifl

feawmw (i) fm-Smfess
fEfa w5

YR T (iv) HE = T arfas
WMH W THS HL
=

HE W F 99 fad T g2 | Fifew

(@ (b) () (d)

(A) @) @) @) (iv)

(B) () (i) (iv) (i)

©Q @ Gv) (i) (i)

(D) G(v) @ @) ()
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85. Mention the common variable types used 85.

in research.

(a) Dependent variables

(b) Independent variables

() Intervening variables

(d) Moderator variables

(e) Control variables

(f)  Extraneous variables
Code :

(A) (a) and (b) are correct.

(B) (a), (b) and (f) are correct.
(€) (a), (b) and (e) are correct.
(D) All the variables are correct.

86. Match the following : 86.

(a) Ujjwala () Health
mission

(b) Amrut (i) LPGsubsidy

(c) Pahal (i) Subsidised
food

(d) Antyodaya (iv) Sewage and
water

(¢) Indradhanush (v) LPG
connection
to BPL
families

Code :

@ () (0 (d (e
(A) (v) (v) @) (@) ()
B &) O (@(v) @) @)
© @ 6O @) (v) ()
D) @ @) (@) (v) (v)

Y # e foRd S A g =1 F yeR
1 eI I |

(a) 3nfEa =R

(b) TEEAH

(c) TEETT =

(d) HERR =

(e) fFa=m =R

() T =R

L T3

(A) (a) 3R (b) T €1
(B) (a), (b) 3 () =& ¥
(©) (), (b) 3R (e) & ¥
(D) St =RuEf T

=1 =1 gufem wife
(a) T (i) TR Hiimm

(b) ¥Ha (i) TeLHLSH. srEm
(€) w&a (i) STIRH W< GrE

(d) EEE  (iv) T 99 59

(e) E=¥Y  (v) et diud ufErdiwr
TGS e

%

@ () ( (@ (o
(A) (V) (v) (@) @) ()
B & @O Gv) @@ @
© @ @ @) (v (i
D) () @) @) (@) (v)
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87. Discrete variables and continuous variable ~ 87. dd =¥ AT 3T9aq W 3 WK F
are two types of :

(A) qualitative classification (A) TUTCTE TS
(B) quantitative classification (B) wftmmomeTs: =iieRI
(C) open end classification (C) G fa =1 Fffepo
(D) time series classification (D) Tel it FffeRTor

88. Extension method best suited to tackle a 88. Tt fovm vy o soeia aven & frget &

burning problem at some point of time o == i e fafy suge ot &2
is :

(A) Campaign (A) g

(B) Field trip (B) &3 yuu

(C) General meeting (C) HHHA E9

(D) Group discussion (D) HqE 9=t

89. Match the fatty acids with its sources : 89. THM 3Tl 1 I wrdl & =Y e =i

(a) Acetic acid (i) Coconut (a) uHifes wfaz () Tfa=
(b) Butyricacid (i) Palm (b) =gfefs ufgs (i) ww
() Lauric acid (iii)  Vinegar (c) wifF ufire (i) fawe
©(d) Palmitic acid  (iv) Butter (d) wifafes ofas (iv) o=@
(e) Stearic acid (v) Beef tallow () feafm wfae  (v) =i ==
Code : E T3

(@ () () (d) (e) (@ (b)) (¢ (d (e
(A) (@) @v) (@) () () (A) () (v) (@) (@) (v)
B) @& @ @@ (@) ) (B) @ @@ @) (v) (v)
(© (v) (v) @) @) @) © @ @(v) @) @ @
(D) @) () (v) (v) (@) (D) (@) @) @(v) () @)
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90. Match the following : 90. Trfefea =1 faem %1
List - I List - II -1 T - 11
(a) Prebiotics (i)  Phytoestrogen (a) T (i) HRATEEA
(b) Probiotics (i) Green tea (b) wErEfeT (i) WA
(c) Phytochemicals (iii) Oligofructose (c) TFEEIHIAHeE (i) SferiTEaRS
(d) Antioxidants  (iv) Bifidobacteria (d) TESTRE=E (iv) WEFEEeE
Code : %e
@ () (@ (9 (@ (b) (e) (d)
(A) @) @ (@) (i) (A) @) @ (iv) (i)
(B) (v) (i) @) () (B) Gv) (i) @) ()
€ () (@v) @ (i) (© @) (v) @ ()
(D) O (@) @) (iv) (D) @ @) (i) (iv)
91. Two of the following Acts deal with  91. = & | 3 sifufrem feensii v siferme
protection of women and girls against =1 fémn & weam wer %@ ¥
violence :
(a) RTI Act, 2005 (a) RTI &fyf=a9, 2005
(b) DV Act, 2005 (b) DV ##fufFam, 2005
() RTE Act, 2009 (c) RTE sifufas, 2009
(d) PCPNDT Act, 1994 (d) PCPNDT #fufqam, 1994
Code : %
(4) () and (b) (A) (a) 3 (b)
(B) (b)and (o) (B) (b) 3R (o)
© (9 and () © (0 3@
(D)  (b) and (d) (D)  (b) 3 (d)
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93.

Assertion (A) : Selection of clothes should
be very Judicious so that we can buy best
clothes by spending minimum amount of
money.

Reason (R) : The clothes should be
compatible to age, personality and climate
and should not be a hindrance in normal
working.

Choose the correct answer :
(A) Both (A) and (R) are correct.

(B) (A)and (R) both are correct answer,
but (R) is not correct explanation of

(A).
(C) (A) is correct, but (R) is wrong.

(D) (A) is wrong, but (R) is correct.

In contrast to warm blooded animals, fish

do not accumulate and are

thus very low in carbohydrate.
(A) Glycogen
(B) Sugar

(C) Fibre

(D) Cholesterol

2.

93.

T (A) : FISI 1 997 Igd fFawgu TirE
¥ T s =fen e & &0 = afa
Y Y HIY = FIS G T ¢

WHIUT (R) : Y 34, eAfsea AL ey %
Y HA T gU B =R R wEe w5
Hiferd 3 9t AR

e 3T A ¢

(A) (A) 3R (R) 3T wE €

(B) (A) 3R (R) 21 W&l s €, foFg (R),
(A) =1 &l =ren & ¥

(C) (A) %t & fohg (R) 7o &

(D) (A) Terd 8, fofg (R) W& 71

el IFe Siifaql & sfagpe qofeaf
=l uwa aE st € s
e 3 FEEESE H A At
w2

(A) TETEHSH

(B) WU

(C) R

(D) Frergla
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94,

95.

The glossary is the list of : 94.

(A) diagrams used in the report
(B) the samples covered in the report
(C) technical terms used in the report

(D) References

When a worker performs two or more 95,

activities simultaneously, actively
engaged in one of the activities and
passively in the other activities, the term
used to signify, it is called as :

W -HYE (T ) e

(A) wfiaes 4 wgea faaii =t

(B) wieded ¥ wgea =maeyl =i
(C) wiaaea § wgaa aert w=al =+
(D) wewl #1

STl I3 IR U |1 <1 3ve5a s1fye fwanad
=1 Fa1 & foed ag v § aifus afieg sl
T H fAftera w9 4 o5 €1 28 Haifim
FAAAICE

(A) Dovetailing (A) i@l
(B) Combining (B) HaSH
(C) Sharing (C) wFIERT
(D) Splitting (D) @A
96. Which of the following theories focuses  96. = # & 7 = fagia dem 3 sifiusfam =5
on freedom of speech and expression ? TR W HfEa # 2
(A) Libertarian Theory (A) Hfemart =1 fagi
(B) Development Media Theory (B) Taemm Hifemn =1 fagia
(C) Democratic Participant Theory (C) vt wewifirar =1 fagia
(D) None of the above (D) 39 § | FE T
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98.

89,

The Consumer Education and Research
Centre was established in the year 1978
at :

(A) Hyderabad
(B) Ahmedabad
(C) Kolkata

(D) New Delhi

Which of the following has highest
Glycemic Index ?

(A) Watermelon
(B) Pastry
(C) Bread

(D) Dextrose

Which type of leadership is best suited for
optimizing team performance in projects
or programmes ?

(A) Democratic leadership

(B) Autocratic leadership

(C) Participative leadership

(D) Authoritative leadership

az:

98.

99.

I foan w SEYE $E W 1978 §
el et fwan man o ?

(A) TR
(B) IEHRETS
(C) RieTEm
(D) & fewed

frefafad 4 9 frasm wedfas afuges
Afr 32

(A) TS
(B) =
© W=
(D) =™

R R o I ey Su—_—
AIFS F4 2q fF9 UHR F1 99 P
T 39ge € 7

(A) eIl g

(B) g™ Fg=

(C) =Wt g

(D) anfaepIits Jge
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100. What is wrong about non-parametric

100. TR-Tufafzs wdiem & fom w0 9= 98 £2

tests ?

(A) They are distribution free (A) A faveiom i famo w snufia s s
techniques of analysis. T

(B) They assume that groups should be (B) =t W=l ¥ o e wemty §)
homogeneous.

(C) They make no assumption about the (C) 3 wr=el & = § 1g w5l & T |
parameters.

(D) They do make certain assumptions (D) ¥ FB Hr=a & W § Wgd F a9
but these are fewer and less FH FHIW Bt &1
stringent.

-00o0- ~-000-
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1. ¥ 793R 7 100 TS 997 & - Wolih W 2 3% o 81wt wed v e sifad
2. W % IW, € T OMR IWR-¥ie (H-iz) T S Fifem |

3. U YAl @ R |

4. Tl oft 7 F FaFo 71wt 2aet vd drare B w5 wE gt &

5. OMR IW-¥ie ( AE-9M2) 1 WA F T U R S A /a0 A 7 e s
394 1 =1 fierae anfe 92 W1 fomed Fereaey A% woE @ S

Note :

1. There are 100 objective type questions in this booklet. All questions are compulsory and
carry 2 marks each.

2.  Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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